< iANTO

5 R

& {R 5 EiL

MINIATURE CYLINDERS (ISO 6432)

1. FRAARFHE - NEERIS - MYEMER -
2. RASEEEHBHY - BESREF
3. MFINFRERSERES - EE0EE - W

BIRIEEE -

4. REEEEMER - RISEFE - BAFH
ERE > Smt—mRER -
5. BERNMWEG - ERIVETRXRE:SS -

o

BEEE - EBRES -

7. ZERERREHE -

B 18

* 3 MSR
EENRZ N EEN R ER
IR @12 ~ @16 ~ @20 ~ @25 * @32 ~ J40
ElzE =)
ME 1.5MPa(15kgf/cm?)
ERED 0.07~0.97MPa(0.7~9.9kgf/cm?)
EREE 50~500mm/sec
ERRE -10°C~+70°C ( RENFSEKAREE
EE @12~@25PURE > @32~@400 FAEE
#&5m AHRE (foBty)

R E

MSR 20 X 100 LB TG-C73 2
| | | | | |
* 3l il R 17 12 fic & eSS tEEE RESSEE
\ \ \ \ \ \
MSR =48 D12 15~100mm S TG-C73 1 118
716 15~150mm LB 2 21E
@20 15~300mm PP
MSRP R @25 15~300mm PR TG-H7A1
@32 25-300mm FA
@40 25-300mm ER NN
MSWR E8j5Y FB TG-H7A2
(fI#€20~40)
sSDB
EX 3
SDB fﬁ}ﬁ%ﬁ;ﬁg
REREEE
Y FZEGE
Y
P A Y FZ#5R(1SOR) XEEMRAIE A 2114 07.01-
P Yl

3 08.01




MSR &3

— 4 (mm)

©|© 0
©| ¢ ©

© 0|00 ¢ 6¢C
©©|0 0 ¢ 6¢
© 0|00 0 ¢
© 0060 ¢C
© 0 00

© 0 00

© ¢ 00

-—_——— 4 & -—_——— &
maR| =B B 7 B8 S
0| m= ISR 1 i ST SEERE | RN | SR | E e
9 #= BELBREE ! @12 | EL6 | DYP12 | Swmexe | - .
) FAN=] g;?gﬁg?ﬁgé 1 @16 ELB DYP16 | SM10X2
~ fral=fer =]

) S S TR ; @20 DRP8 APA20 | SM1B6X2

212 3162 @25 | DRP10 | APA25 | SM22Xx2 - -
o R BE® @20~40:1 @32 | DRP12 | APA32 | SM28X2 | DF14 | SMBX2
(6) EIESED) NBRIIZIZ 1 @40 DRP18 APA40 | SM3BX2 | DF20 | SMBX2

212,016:2

N N :l:\ 2/‘3 |- = =

@ | E=EmE NBRES#ZS 520401
(8] L PES RSN EIE 1 (9)
(9) i 38 ET5MHSIE S 1
O | TEE TEFLONSSEfifs 7?;22(’] glg: i LR
® | wmsns NBRIIZZ 1 @16 | 961|101 |108 (113|118 | 125|137 | §25mmigil12g

@20 1639|175 185|191 [197 | 207 | 223 | @25mmiZfl16g
@25 |223|235 254|267 |279 | 298|329 | @25mmiZiN31g
@32 | - |376| - |416| - | 456|496 |E25mmiEN40g
@40 | - |B36| - |699| - |762|825 | E25mmiBN63g

'3 08.02




N ERRE
MINIATURE CYLINDERS (ISO 6432)

ABRYE

d *{_j_giﬁﬂg A+1712 H
C E N B+17%2 N _|
81 ¥ G F L L 01
5 T T 2-PT _2Q R
N 5| 5| — ‘ ‘ E%/ .

ks
2D J /ﬂD'I

|
<
N

&

tIff |A|B|C|eD1jeD| E |F |G H|J [K|L| M1 [\ N|P |[eQ| R [S1/S[T1T|eU|PT |V

@12 |75 |27 16|16 | 6 | 22|17 | - |14| - | 5 |5.5|M16X1.5| MBX1.0 [11.5| 22| 6 |12 | 22|10/ 6 |4|19.8| M5 |18
@16 |82 |33 |16|16| 6 |22|17| - 13| - | 5 |5.5|M16X1.5| MBX1.0 11.5/22 | 6 |12 |22|10|/6 |4|19.8| M5 |18
@20 96.5/36 |20 |22 | 8 [25.5 18| 7 [15| 6 [7.5| 8 |M22X1.5| M8X1.25| 16 |26 | 8 |16 |27 |13|8|5| 28 | 1/8" |24
@25 104|36 |22|22|10|28|20| 9 |12/ 6 | 8| 8 |M22X1.5|M10X1.25| 16 |25 | 8 |16 |27|17|8 |6|33.5/1/8" |30
@32 |120|/40 |22 |24 12|30 |20| 10 10| 6 [10| 8 |M24X1.5|M10X1.25/ 17 |26 | 10 | 16 | 32|17|10/6| 40 | 1/8" |37
@40 129|48 |24 |30|16 |29 |20| 13|12/ 8 | 9| 8 |M30X1.5|M12X1.25| 18 | 28 |12 | 20| 41 |19]10|7| 49 | 1/8" |46
7,
W E¥H (MSRP)
AP+1T12
C E N B+{Ti2 N
S1 86 F L L
S, 2-PT
@ 5 |
g
oD J 2D ® v
K

i [AP| B | C|eD1/eD| E | F | G | J | K| L M1 M N |S1]/S [T1|T|eU | PT |V
@12 |72 |27 16|16 | B |22 |17 | - - | 5|5.5|M16%X1.5| MBX1.0 [11.5/22|10|6 |4 |19.8 | M5 |18
@16 |78 |33 |16 |16 | 6 |22 |17 | - - | 5|5.5|M16X1.5| MBX1.0 [11.5/22|10|6 |4 |19.8 | M5 |18
@20 93.5/36 |20 |22 | 8 25.5 18| 7 | 6 |7.5 8 |M22X1.5| M8X1.25| 16 |27 |13|8 |5| 28 | 1/8" |24
@25 |96 |36 | 22|22 |10 |28 | 20| 9 | 6 | 8| 8 |M22X1.5/M10X1.25 16 |27 |17 |8 |6(33.5| 1/8" |30
@32 |104|40 |22 |24 |12 |30 | 20| 10| 6 |10/ 8 |M24X1.5M10X1.25/ 17 |32|17|8 |6| 40 | 1/8" |37
@40 [113|48 |24 |30 |16 |29 20|13 | 8 | 9| 8 |M30X1.5/M12X1.25 18 |41|19|10|7 | 49 | 1/8" |46

'3 08.03



MSR 33

g
¢l
St
’

© K2R (LB)

AA+1THE
AY+1TRE
P X /(N
|
== S \.LJ
] [&] )
e | | 1 1 |
\‘}‘ g \}H HJH ‘}‘\ [ ‘}\
cJ l AX+1Ti8 CF l ‘ A ‘
B+17%2 CD 4-gP CH
| | |
i 18 JAVAY AX AY B CJ CcD CF (813 CH (8,4 A G oP
@12| 85 30 76 59 29 19 13 3 43 12.5 32 20 5.5
@g16| 91 36 82 65 29 19 13 3 43 12.5 32 20 5.5
@20| 109.5| 42 100 78.5 | 36.5 | 23.5 16 3 53 16 40 25 6.6
@25 112 42 100 78.5 | 36.5 | 23.5 16 3 53 16 40 25 6.6
@32| 129 32 124 86 54 33 25 4 59 19 45 32 6.6
@40| 138 42 134 96 54 33 25 4 64 o3 50 36 6.6
== Y4 44 2 Ht
i FA FB
© BxRWR (FA) #ZRW(FB) . @ #3240
M+1T752 BB
Q BC BC BB R
- - [ N
el el N N N
)
el B | @) || )
= ==RLN PR\
el el N
Y Y A i
y - va )
L+17%2
2-gP 4-gP
il KK BA BB BC \Y/| BO P o] R L
12 51 28 3 75 40 5.5 19 = 50
@16 51 28 3 81 40 5.5 19 - 56
@20 66 40 5 98.5 50 6.6 20.5 = 68
@25 66 40 5 101 50 6.6 23 - 68
@32 72 47 5 109 58 6.6 25 33 74
@40 84 50 5 118 70 7 24 36 84




N EmRE
MINIATURE CYLINDERS (ISO 6432)

ERYE
«w m& (SDB)

XC+1718 LD

NS i — |
b AR o
I

f-’\7
ﬁ I
Lgb \ N ( )
—_—
S
e
LG | LF_ | LX 2P LQ
— L —
. LE | LK
) LG LF LX LE LA P | LK | LQ
12 75 26.5 3.5 15 8 30 20 55 15.3 1.6
16 82 26.5 3.5 15 8 30 20 5.5 15.3 1.6
@20 96.5 26 5 15 6 36 30 6.6 24 .1 4
25 104 26 5 15 6 36 30 6.6 24.1 4
@32 120 28 - 18 10 40 32 6.6 32 8
@40 128 32 - 20 12 45 36 6.6 40 10

31 08.05



MSR 33

CAERY®E

O EEH(GEE)EZ MSWR X O]

A+21T#2
C E N B+17%2 N E+1718 C
2 G F L L
T 1T 2-PT
: H ([ ————

G L
@20 | 119| 36 |20 | 8 | 22 |25.5| 18 | 7 8 | M8X1.25 |[M22X1.25|16/113/27 5 | 8 |1/8"
@25 124 | 36 | 22 | 10 |22 | 28 [ 20 | 9 8 |M10X1.25M22x1.25/16/17/27 6|8 |1/8"
@32 |134| 40 | 22 | 12 | 24 | 30 | 20 | 10 | 8 |M10Xx1.25 M24x1.5[17/17/32 6 |8 |1/8"
@40 |142| 48 | 24 | 18 | 30 | 29 | 20 | 13 | 8 |M12X1.25 M30x1.5|18/19/41 7 [10/1/8"
= -,
O ZEEoEEf MSWR DOOXOO YOO
A+21T18
o C E N B+ (T2 N E+{782 C+ (EHIT)
‘ | WE
EFH%@THT ‘ ‘ W ﬂ [ ;H 2
% J ; s
WATTHFE(25mm)
 WBIHF2(50mm)
HE | A B C 3 N M wA | wB | wc | ewD
@20 | 119 36 20 25.5 16 M8X1.25 45 70 10 23
@25 | 124 36 o2 o8 16 | M10X1.25 | 45 70 10 23
@32 | 134 40 o2 30 17 | M10x1.25 | 45 70 10 23
@40 | 142 48 24 29 18 | M12x1.25 | 55 80 15 32.5




N HRRE REEHS
MINIATURE CYLINDERS (1SO 6432)

CHBRYE

O YEUIRBA(YI) G
1ISO8140
DIN71752

aJ
B F
12 12 6 12 24 M6X1.0 6 12 12 31 10
16 12 6 12 24 M6X1.0 6 12 12 31 10
@20 16 8 16 32 M8X1.25 8 16 16 42 14
@25 20 10 20 40 M10X1.25 10 20 20 52 18
32 20 10 20 40 M10X1.25 10 20 20 52 18
40 24 12 24 48 M12X1.25 12 24 24 62 20
0 PELIEERE(P) oM
DING48 <G| CD
DIN24335
S ﬁ\
_ [ang
_1 % &J
4
8 <t
FHEX
<
o (K7
M zBD

FARES G

@12 | 14| MBX1.0 | 30 | 6 10 | S 18 9 16 | 13 7 |12.7| 5 39 8.896| 11
@16 | 14| MBX1.0 | 30 | B 10 | S 18 9 16 | 13 7 |12.7| 5 39 18.896| 11
@20 |17 M8X1.25 | 36 | 8 |125|12 |22 | 11 | 18 | 16 | 9 |16.8] 5 | 47 |10.4| 14

@25 |21 M10X1.25 43 |10 | 15 |14 |26 | 13 |22 | 18 | 11 |18.1|6.5 | 86 [12.9| 17
@32 |21 M10X1.25) 43 |10 | 15 |14 |26 | 13 |22 | 18 | 11 |18.1| 6.5 | 86 [12.9| 17
@40 |24 | M12X1.25) B0 |12 (17516 | 30 | 16 | 26 | 22 | 12 |22.2| 6.5 | 65 |15.4| 18

'3 08.07




MSR 33

THAERYR
.. 4
O YEIBZEA(Y)
KG
oCL
CM #CK H9
7 . ?\
4
&
¢ \_/
<
Q]
M #BD
BHE | A M CE | oCK | [ICL | CM ER KG | LE | eBD| G
212 12 MBX1.0 24 6 12 5] 7 17 12 10 9 31
216 12 MBX1.0 24 6 12 6 7 17 12 10 9 31
@20 | 16 M8X1.25 32 8 16 8 10 21 16 14 13 42

@25 | 20 | M10X1.25| 40 10 18 10 12 26 20 18 15 52
@32 | 20 | M10X1.25| 40 10 18 10 12 26 20 18 15 52
@40 | 24 | M12X1.25| 48 12 24 12 12 32 24 22 15 60




